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E¥+T T X 1. 000
fEH (HRb) m3 58. 000
fEH CaA) m3 7.000
R LIk S ot 12. 000
ERRIEHIE Y - SR ot 5. 000
E¥+T K T X 1. 000
fEH (HRb) m3 57.000
fEH CaA) m3 23. 000
IR L m3 55. 000
AR T nf 123. 000
(2) AT
L No9 = 1.000
av s )—b égg/f*‘*{,gfg We= m3 3.900
e — AR i 16. 900
25 ot 8. 400
Kk & AT HABVU £&150 N 0. 200
TR No10 = 1.000
ar Y=k égg/f“‘{;f%@ o= m3 8. 100
T — I nd 32. 600
e ot 16. 300
K&~ AT HABVU 12150 VN 0. 200
L Noll = 1.000
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THE - FER - ) FL XA B =
ay s y—h ég;/f%géf’%’z LA m3 4.100
T e — TR nf 17. 900
2 Bhoi 8. 900
KigE AT HREVU #2150 %N 0. 200
KL No10 = 1.000
ESTAE égg/f“‘{;f%@ W/e= m3 12. 100
TR P — R ot 56. 200
BLarz)—h m3 1.800
FERESE A L EIFEA5~15cm, t=30cm m3 10. 900
HEI T YT RC-40 m3 2. 200
B Hibk t=10mm ot 1.600
K& T Noll = 1. 000
ar sy —h ég;/fﬂgéf’%’z L m3 11. 600
T e — TR nf 55. 900
BlLarzy—h m3 1.700
B A L E| T 5~15cm, t=30cm m3 10. 400
BEIT T RC-40 m3 2. 100
B Hikk t=10mm m 1.300
KL Nol2 = 1.000
ESTAE égg/f“‘{;f%@ W/e= m3 11. 100
T — I nd 51. 400
BLarz)—h m3 1.700
FERESE A L EIFEA5~15cm, t=30cm m3 10. 000
HEI T YT RC-40 m3 2. 000

2/4




R 744k BRTPP filEr Tl (ETE GROFMRE) BEREE

TAE - FER - AR Btk HAL H i &

F it t=10mm o 1. 600

(3) fEfRML T

5L £20 1. 000
SRR T (2455 1) m 40. 000
AT £20 1. 000
T S 64. 000

(4) XFEARMLER T

PEALRER =X 1. 000
AX R M 14em A 2. 000
AX Rk fmEs  18cm N 1. 000
AX R MmEs 2lem N 1. 000
AX R M 24cm A 2. 000
AR R M 25cm A 3.000
AX R M ee  26em A 1..000
AR R M 27cm A 1..000
AX Rk fmEs  30cm N 1. 000
AX Rk fmEs  3lem N 2. 000
AX R M 32cm N 1..000
AX R M 33cm A 3.000
AX R M 36cm A 1..000
AX R fMmEs 37cm N 2. 000
AX Rk M E s 38cm N 3. 000
AX R M 40cm A 3.000
AX R M 47cm A 2. 000
AR R M e 5lem A 1..000
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AFx kbR B 53cm EN 1. 000
AFx kbR B 59cm EN 1. 000
AFx kbR B 65cm EN 1. 000
b /% &R MBS 10cm EN 1. 000
b /% KR MomER 1lem EN 2. 000
v x kR MBS 13cm EN 1. 000
v x kR MBS 14em EN 1. 000
v x kR B 15cm EN 1. 000
= b 74 MBS 16cm A 2. 000
b /% &R MBS 19cm EN 1. 000
b /% &R MomER 27cm EN 1. 000
= b 74 B 35cm A 1. 000
HEA RER ff B 65cm EN 1. 000
FRIRTE m3 13. 400
Vg ¢ R ton 12. 100
2. &L
(IR L
R T X 1. 000
=T L— TR X 1. 000
A
1. R
(1)E Mt
M X 1. 000
b TR AR A - FSE =) 2. 000
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